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302. ocrpoiire rpaduk GyHKnuu y = x° — 3. YKaKuTe IPOMEKYTKH,
B KOTODBIX (DYHKIHMS NPHUHMMAET: &) IIOJOXKUTEIbHEIE 3HAYCHUS;
6) oTpuaTeIbHEIE 3HAUYEHHUA.




[image: image2.png]304. Pemunre HepaBeHCTBO:

a) x? + 2x — 48 < 0; 1) 4x® —12x + 9 > 0;
6) 2x* - Tx + 6 > 0; e) 25x% + 30x + 9 < 0;
B) —x? + 2x + 15 < 0; x) —10x% + 9x > 0;

r) -5x% + 11x — 6 > 0; 3) —2x* + Tx < 0.




[image: image3.png]306. Pemure HEpaBeHCTBO:
a) 2x*+ 18x - 7> 0; r) —2x° - 5x + 18 < 0;
6) —9x% + 12x — 4 < 0; 1) 3x% - 2x > 0;
B) 6x% — 13x + 5 < 0; e) 8-x<0.




